f;ﬁggg%ﬁm CFRERLRRE  FAMSELEE - ARERAXARENEMRNES
g &
g 2%
AN FEE R O BT IRAS AT
EE R A (#57T)

3,000,000,000 A% Lo 30,000,000

UNTR ST, ATt B TR AT (o PR ) mT A3 b 1) A A M A 1T T E 6 47 AT
AT BEASY - BAR 2 W ARAER 1] B S 452 ) 19— A3 BEE % S [ 32 HEE T R A 3 % 54T B (Ml
RAEAT AR - BXBE E AL BAT R (AR BRI AT

(#7T)

i 48 2 AR SCPE I 38 H A
EZE C A7 H i iy EZE Y
[AREE]  ARIRE AT T 34T 1 el EZE Y
[AREE] BORIZRE DS T 81700 Bl EZED
[fmEE] awt EZED

Fit -

L (AR EEIEDHAT R > G 3547 (4R BRSO B - BRI 8 47 & L [ 4R BB

i o
155

b AR A B A S AGE 1 B AN T R A 1] B SR A — R T RE TC M
BEAT U [ A AE T By > B T 34T I ) — RO HE | K% [ 1 S A7 ) — LA B )

;A2

[ 58] (ELAG AR 4R B T DL SEAT RO RO B3 ) 46 A6 BT A 7 ThT B AR ST i 2 114
T A B B AT SO AT I A R SR AR o HLRRRIR o S AR WO A SO
T A RC 8k B AR B 5 IR - A EOIR A A9 BT A S B AR UK - e
AAC AT I T RIRERIBR S -

- 195 -



0
Az

AR °

%ﬁ{%%%ﬁﬁzﬁ CTEERNALFATEE . FURESELEE - FRFERAVAEEBEARAN[EE

N

ABTRRAEREFNRRAGNER

JH BRAT IR R & B U0 JBESR R & ) 15 DL SR AL A S R A0 ) o AR 2t S R B
oo

fBREESTE

T E A A BR A0 I B R ST o I AR ST ) A T AR SO A A A S A o Bk T
(15 MR RERT & ] — B o

BRITRON—REE

A B E S O A R IR — IR IR > R AT AR 24 /] — I HE 7 LA
o %~ BT MR B AR (S 0 AN BB AL B AT AR B ST AR (R wt K K [ 4w
B 1 AR 52 0 B0 G ) W] RE 432t B0 AT g e R R A (8 T AT T B % AT AT AT B
) B8 AT e AS A8 T (E A9 20 % B9 B 03 > e FRAM AR5 T 2L B (] 52 0 8 [l 9% JBe 47 i
(anAy) -

(i) AAFEPERE]EAR AT AR (NIRRT ([ 4R SE] 7] fE %%
AT AEAT AR ) B 3 AT A B HE 1920% 5 K&

(i) A2 AR B T SC T R B 1] A ) — M4 R B ] 1Y A e A 4 T L (A
) o

VLA T 1) i 13 i

(1) AR B AR R

(i) ALAREERRAN A ~ 2% )35 S & 1 6 A ()8 SR T E A X R BT R
JoR IR AR g g H A 5 ek

(i) R RO A8 119 25 2 vk vl 5% RO BB ol A T i R R ey

W — 2 RE T B AR A AS SO B R T A B AN A B At B R — 3. A B R
201 74F[@PEE A E R | — B o

- 196 -



%H{%%éﬁﬁzﬁ FBENLFTE  FAESFHEE FARFRALFEREBERENES
=

N

BE KRG —REE

A E O A B — M R4 RE > DAAT (A W) — U g B ] 48 T

ETELWF%E%sz%zwt%*ﬁ&[fﬁ]%)ﬁfé(K%ﬁ&[ﬁ%}&*&ﬁ%ﬁ%ﬂﬁ%%%ﬂ

A BBt A A 0] B SRR A A7 (o 1T T B B S B AT AR AT IR 403 ) R AT I A K T (L 1Y
10% 19 ey

B A5 {8 B A M 5 o B A7 TR ) A G A R 2 52 5 P (R B B 52 P
BEAE R AT ) A5 2 B 1ml A B o T a% S B (] T AR B TR o A T R
P ABE 2 S AR SO B Bk T T A B A A B ) A BB — 7 AR A R I B B g s | —
B o

WA A T 91 di 3 i i

(1) AT BRI A R R

\\

(i) ALAERRANA ~ 2w BB 2 B B AR T8 A R RUE A A mIZHERAT T
o e SR AR g g H A 5 e

(i) AR A0 114 25 208 ke vl 58 RO BB ki T R A ey o

I — 5 452 B P S 5 A A ST B B T T A R A A ) At R — 3.4 Bl R
R2017F [@PEBE ) EmHRER | — K o

- 197 -



